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FRACTION AND DECIMAL (REVISION)
EX 2.1 (NCERT)

1. Solve:
0 2-2 G) 4+ @) 2+ W) =
5 8 5 7 1T 15
V) —t+—-+= viy 2 +3l (vii) Sl—E—
o s 2 2 2
2. Arrange the following in descending order:
22 8 .1 3 7
O 53771 T

3. Ina“magic square”, the sum of the numbers in each row, in each column and along
the diagonals is the same. Is this a magic square?
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7. Rituate 5 part of an apple and the remaining apple was eaten by her brother Somu.
How much part of the apple did Somu eat? Who had the larger share? By how
much?

2
8. Michael fimshed colouring a picture m 0 hour. Vaibhav finished colouring the same

picture in - hour. Who worked longer? By what fraction was 1t longer?

4

1. Which of the drawings (a) to (d) show :

2. Some pictures (a) to (c) are given below. Tell which of them show:
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2, Multiply and reduce to lowest form (if possible) :

. 2 22 . 2:-:? . 3 6 ) 'SIKE
L] Efﬂ 3 () R L 8 4 v} 5 5
. 1 15 ) ﬂ,{i -4 12
v 375 A T ha) 5
3. Mukiply the following fiactions:
2 .1 27 3.1 5 .3
. Zosl Sy L2 sl 4
W 573 W "5 g w373 ™ 7
2 4 3 4 3
MRCE T h o) 3375
4. Which is greater:
2.3 3.5 1.6 2 3
{'}TD4MSDS tu}znjor 307
5. Saili plants 4 saplings, in a row, in her garden. The distance between two adjacent
saplings is % m. Find the distance between the first and the last sapling.
6. Lipika reads a book for l% hours everyday. She reads the entire book in 6 days.
How many hours in all were required by her to read the book?
7. Acarmums 16 kmusing 1 litre of petrol. How much distance will it cover using ZE
litres of petrol.
. ) . _ 2 I:I_ [{1]
8. (a) (1) Provide the number in the box D such that EK _E'
(1) The simplest form of the number obtained inDis
(b} (i) Provide the number in the box suc]uJL.':utis-:D—E
D' 5 75
(ii) The simplest form of the number obtained i11|_|is .
2. Multiply and reduce to lowest form (if possible) :
.2 22 . 2:-:? .. 3 6 ) Qx?:
L)) 3 ™ 3 () 770 (1) % a3 () 55
1 15 ) uxi 4 12
™ 378 T 575
3. Muliply the following fractions:
2. Multiply and reduce to lowest form (if possible) :
] 22 . 2:-:? . 3 6 ) QKE
0] EH 3 () e LI 2 a4 () 55
.1 15 1 xi .4 12
W 378 M 20 w575

3. Mukiply the following fractions:




Exercise 2.4

. Find:

) 252 ) M2 i) 8+ y 4ed

| 4
qo3s2- i 5+3-
(v) 3 (v) 7

. Find the reciprocal of each of the following fractions. Classify the reciprocals as
proper fractions, improper fractions and whole numbers.

3 N 9 6
0 3 (1) : (1) 7 ) 3
o )L
{v) 7 (wi) 3 (vu) T

. Find:

7 4 6 1
no=+2 il =+5 i —+7 ) d==+3
(1) ] (ir) 9 (i) 3 m) 3

1 3
4 o3-+4 i) d=+7

) ) (wi) 7

. Find:

. E;l o E;E e E;E oy El;é . 31.:.§
037 ®F7F @ 3% 5% 057

y A | 1 2 1 .1
i o=+l= @iy 3==1= i) 2==1=

v ) {vu) 3 3|:'.'1|J] 55
. Expressmkg:

i) 200g ) 3470g (i) 4kg&g

. Write the following decimal numbers in the expanded form:

i) 20.03 im) 2.03 (m) 200.03 (v) 2.034

. Write the place value of 2 in the following decimal numbers:

i) 2.56 W 2137 (m 1025 (w) 942 (v) 63.352.
. Dinesh went from place A to place B and from

there to place C. Ais 75 kmfromBandBis o B

12.7km from C. Ayub went from place A to place H‘l‘}\
D and from there to place C. D15 9.3 km from A Hh%_«,f

and C 15 11.8 km from D. Who travelled more 0 -
and by how much?

. Shyama bought 5 kg 300 g apples and 3 kg 250 g mangoes. Sarala bought 4 kg 800 g
oranges and 4 kg 150 g bananas. Who bought more fruits?

. How much less is 28 km than 42.6 km?




Exercise 2.6

1. Find:
(i) 02x6 () 8=4.6 (m) 2.71x=35 (v) 20.1x4
(v) 0.05=7 (vi) 211.02x 4 (vi) 2= 0.86
2. Find the area of rectangle whose length is 5.7cm and breadth is 3 cm.
3. Find
8 (M L3=10 () 368=10  (w) 153.7=10 (wv) 168.07 =10
(v) 3L.1=100 (vi) 156.0 =100 (v} 3.62 =100 (vi) 43.07 = 100
) 05«10 (x) 0.08=10  (a) 09=100 () 0.03 = 1000
4. Atwo-wheeler covers a distance of 55.3 km in one litre of petrol. How much distance
will it cover m 1) hitres of petrol?
5. Find
() 25=03 () 0.1=51.7 (m) 0.2=316.8 (V) 13x3l
(v) 0.5=005 (v 11.2=0.15 (v) 1.07 = 0.02
pe) 10.05 = 1.05 (ix) 10001 =000  (x) 100.01 = 1.1

ExercisE 2.7
1. Find:
(i 04+2 (i) 0.35+5 (i) 2.48 +4 (iv) 65.4+6
(V) 651.2+4  (vi) 1449=7 (vi) 3.96+4 (viii) 0.80+5
2. Find:
(i 4810 (i) 525+10 (i) 0.7+ 10 (iv) 33.1+10
) 27223+ 10 () 0.56+10 (vii) 3.97+10
3. Find:
@ 27<100 ) 0.3=100 (iii) 0.78 = 100
(V) 432.6+100 () 23.6=100 (vi) 98.53 =100
4. Find:

i 79+1000 (i) 263+1000 (i) 38.53 = 1000
(iv) 1289+ 1000 (v) 0.5 1000

5. Find:

@ 7+35 (i) 36=02 (i) 3.25+ 0.5 (iv) 309407

() 05+025 (i) 775025 (i) 765+0.15  (vii) 37.8=1.4
(x) 2.73+13

6. Avehicle covers a distance of 43.2 km in 2 4 litres of petrol. How much distance will
it cover in one litre of petrol?




